THE BIG CHALLENGE – MARDI 6 MAI 2008
NIVEAU 4eLV1 - CORRIGES
1. “........................... from Scotland?” “Yes, I am.”


(A) Are you
(C) Is it


(B) Do you
(D) Are we
The correct answer is A
“Are you from Scotland?” “Yes, I am.”
2. ........................... very nice, isn't he?


(A) Your parents are
(C) Mary isn't


(B) Peter is

(D) You're
The correct answer is B
Peter is very nice, isn't he?
3. ................... the supermarket got a car park?


(A) Have
(C) Has


(B) Does
(D) Is
The correct answer is C
Has the supermarket got a car park?
4. This evening we ......................... a new Italian restaurant.


(A) are going to
(C) going in


(B) goes to

(D) have dinner
The correct answer is A
This evening we are going to a new Italian restaurant.
5. Mr Harris ..................... late at the office every evening.


(A) has to
(C) is working


(B) works
(D) working
The correct answer is B
Mr Harris works late at the office every evening.
6. Is Peter ..................... study Spanish at university?


(A) want to
(C) going


(B) go to
(D) going to
The correct answer is D
Is Peter going to study Spanish at university?

7. Skateboarding doesn't interest you, .........................?


(A) aren't you
(C) don't you


(B) does it
(D) isn't it
The correct answer is B
Skateboarding doesn't interest you, does it?
8. Manhattan ........................... New York City.


(A) isn't in
(C) is near


(B) is part of
(D) comes from
The correct answer is B
Manhattan is part of New York City.
9. “Excuse me, ............................ is £5 in euros?”


(A) how much

(C) are there


(B) how many

(D) have you got
The correct answer is A
“Excuse me, how much is £5 in euros?”
10. We can't make an omelette because ...................... eggs.


(A) there are enough
(C) there aren't any


(B) we haven't much
(D) it isn't enough
The correct answer is C
We can't make an omelette because there aren't any eggs.
11. Australia ................................ as Canada.


(A) is as big
(C) isn't as big


(B) is bigger
(D) is smaller
The correct answer is C
Australia isn't as big as Canada.
12. Jane ............... down the street and went into the butcher's.


(A) is running
(C) has run


(B) ran

(D) runs
The correct answer is B
Jane ran down the street and went into the butcher's.
13. .............................. sheep can you see in that field?


(A) Are there many
(C) Are there a lot of


(B) How many
(D) How much
The correct answer is B
How many sheep can you see in that field?
14. My father bought some wood to make some ..... for the bedroom.


(A) pudding
(C) trees


(B) curtains
(D) shelves
The correct answer is D
My father bought some wood to make some shelves for the bedroom.
15. She can't phone him because she's .................. his number.


(A) forgot
(C) got


(B) forgetting
(D) forgotten
The correct answer is D
She can't phone him because she's forgotten his number.
16. Complete the “family” of words: window, wall, chimney, ....


(A) file

(C) spoon


(B) roof

(D) sock
The correct answer is B
roof
17. “Afraid” rhymes with “.....................”


(A) head

(C) made


(B) need

(D) fried
The correct answer is C
made
18. Dublin is the capital of ........................................


(A) Wales


(C) Northern Ireland


(B) the Republic of Ireland
(D) Scotland
The correct answer is B
Dublin is the capital of the Republic of Ireland.

19. She's studying art because she'd ................ to be a painter.


(A) want
(C) wants


(B) like
(D) able
The correct answer is B
She's studying art because she'd like to be a painter.
20. Eurostar trains go ...................... the Channel Tunnel.


(A) through
(C) over


(B) across
(D) between
The correct answer is A
Eurostar trains go through the Channel Tunnel.
21. We've ..... visited this castle before. We came here last year.


(A) yet

(C) just


(B) ever
(D) already
The correct answer is D
We've already visited this castle before. We came here last year.
22. President ............................. was assassinated in 1963.


(A) Reagan
(C) Washington


(B) Lincoln
(D) Kennedy
The correct answer is D
President Kennedy was assassinated in 1963.
23. He hasn't finished his homework. He's ................. doing it.


(A) still
(C) again


(B) yet

(D) more
The correct answer is A
He hasn't finished his homework. He's still doing it.
24. How long .............................. to boil potatoes?


(A) do you put

(C) must you


(B) does it take

(D) does it need
The correct answer is B
How long does it take to boil potatoes?
25. The “u” in “cut” has the same sound as the “u” in “..........”.


(A) cute
(C) lunch


(B) put

(D) church
The correct answer is C
The “u” in “cut” has the same sound as the “u” in “lunch”.
26. They've lived in that house ................... a very long time.


(A) before
(C) for


(B) since
(D) there's
The correct answer is C
They've lived in that house for a very long time.
27. Peter, ............ go to the shops and get some butter, please?


(A) do you
(C) have you


(B) you can
(D) would you
The correct answer is D
Peter, would you go to the shops and get some butter, please?
28. William the Conqueror invaded England ..........................


(A) in the 12th century
(C) more than 900 years ago


(B) 1500 years ago

(D) before the Romans
The correct answer is C
William the Conqueror invaded England more than 900 years ago.
29. There ...................… at all in the cupboard. It was empty.


(A) was anywhere
(C) wasn't something


(B) was nothing
(D) was anything
The correct answer is B
There was nothing at all in the cupboard. It was empty.
30. Complete the “family” of words: cracker, carol, turkey, .....


(A) witch
(C) uniform


(B) card
(D) cloud
The correct answer is B
card
31. Let's ask that woman ................ the way to the station.


(A) if she can

(C) is this


(B) does she know
(D) if she knows
The correct answer is D
Let's ask that woman if she knows the way to the station.
32. “Who .... England in 1620 to go to America?” “The Pilgrim Fathers.”


(A) did they leave
(C) were they leaving


(B) has left

(D) left
The correct answer is D
“Who left England in 1620 to go to America?” “The Pilgrim Fathers.”
33. Pronunciation: “intelligently” = o O o o o; “international” = ..... 


(A) o O o o o

(C) o o o O o


(B) o o O o o

(D) o o o o O
The correct answer is B
“international” = o o O o o

34. Little children .... play with matches because they're dangerous.


(A) can

(C) must


(B) shouldn't

(D) should
The correct answer is B
Little children shouldn't play with matches because they're dangerous.
35. I don't like chemistry and physics much, but I'm .... on biology.


(A) interesting

(C) interested


(B) bored

(D) keen
The correct answer is D
I don't like chemistry and physics much, but I'm keen on biology.
36. You .................... park here. Look! It says “No parking”.


(A) don't have to
(C) mustn't


(B) should

(D) have got to
The correct answer is C
You mustn't park here. Look! It says “No parking”.
37. He's decided to go to London ........................ for a job.


(A) for looking
(C) for a look


(B) look

(D) to look
The correct answer is D
He's decided to go to London to look for a job.
38. “.......!” he shouted when he saw the vase was going to fall.


(A) Turn off
(C) Put out


(B) Look out
(D) Go down
The correct answer is B
“Look out!” he shouted when he saw the vase was going to fall.
39. “Is it going to be fine today?” “I .... because I'm going to the beach.”


(A) hope not
(C) hope so


(B) think it
(D) don't hope
The correct answer is C
“Is it going to be fine today?” “I hope so because I'm going to the beach.”

40. When you .... the crossroads, turn left. Our house is number 56. 

 
(A) will get to 

(C) get to

 
(B) have got in 

(D) will get at
The correct answer is C
When you get to the crossroads, turn left. Our house is number 56.
41. ............................ is not on the east coast of the USA.


(A) New York 
(C) Boston


(B) Seattle

(D) Philadelphia
The correct answer is B
Seattle is not on the east coast of the USA.
42. My English penfriend has asked ........ with him for a week.


(A) me to stay

(C) to me staying


(B) for I stay

(D) that my stay
The correct answer is A
My English penfriend has asked me to stay with him for a week.
43. I ...................... sung in public before. I'm a bit scared.


(A) didn't ever

(C) never did


(B) have never
(D) never
The correct answer is B
I have never sung in public before. I'm a bit scared.
44. You look tired. You must stop .... computer games so late at night.


(A) and play
(C) to play


(B) playing
(D) for playing
The correct answer is B
You look tired. You must stop playing computer games so late at night.
45. Most of the big theatres in New York are on ...................


(A) Central Park

(C) the West End


(B) Hollywood

(D) Broadway
The correct answer is D
Most of the big theatres in New York are on Broadway.
46. “Burn” rhymes with “...................”


(A) Karen
(C) earn


(B) barn
(D) corn
The correct answer is C
“Burn” rhymes with “earn”.
47. John's ................ to the post office. He'll be back soon.


(A) been

(C) brother is


(B) went

(D) gone
The correct answer is D
John's gone to the post office. He'll be back soon.
48. The dress ................................... belonged to her mother.


(A) that was wearing
(C) before she wears


(B) she was wearing
(D) has she worn
The correct answer is B
The dress she was wearing belonged to her mother.
49. The missing pieces of the puzzle .............. under the sofa.


(A) was lost

(C) were found


(B) been finding
(D) did they find
The correct answer is C
The missing pieces of the puzzle were found under the sofa.
50. The ........................................ began in 1775.

      (A) American War of Independence   (C) American Civil War

      (B) First World War

         (D) English Civil War
The correct answer is A
The American War of Independence began in 1775.
51. “When .... put the cake in the oven?” “About an hour ago.”


(A) have you
(C) has she


(B) did you
(D) were you
The correct answer is B
“When did you put the cake in the oven?” “About an hour ago.”
52. I don't understand what .......................................


(A) means the question

(C) the question means


(B) does the question mean

(D) is the question
The correct answer is C
I don't understand what the question means.
53. If you don't know a word, ....... it ....... in your dictionary.


(A) turn … over
(C) look … up


(B) find … up

(D) read … down
The correct answer is C
If you don't know a word, look it up in your dictionary.
54. The present British Prime Minister is a member of the .......


(A) Liberal Democrat party

(C) Tory party


(B) Conservative party

(D) Labour party
The correct answer is D
The present British Prime Minister is a member of the Labour party.
